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1-  1- The diagonals of a parallelogram each other. _gjz_/ UQ_/» V“C JILLemsis 1 A
trisect =" (B) bisect i< (A)
none of these  J7ddit et (D) _ bisect at right angle i (5f (C)
2- Distance between the points (1, 0) and (0, 1)is ____ g Aol gl £ (0, 1) 44 (1,0) b6 _2
2 (D) V2 (© 1 (B 0 (A)
3- x=0 is a solution of inequality _gcfg FerfL obsFx=0.3
x-2<0 (D) x+2<0 (C) 3x+5<0 (B) x>0 (A)
4-HCF. of x2-5x+6 and x>~ x~6 is_____ >y Al K2 -x-6. x2-5x+6 .4
x-2 (D) x2-4 (C) x+2 (B) x-3 (A)
5- The degree of polynomial 4 x* + 2x2y is —<Y ¥ 4x44+2x2 y 0) A5
4 (D) 3 (C) 2 (B) 1 (&)
6-If X,5,2€R and z<0, then X<y = ....... XY = v Jwz<0 s XYy,Z€R A6
none of these J3de Utu! (D) XZ=YZ (C) XZ>yz () XZ<YZ ()
7- Product of [X Y] {_?j' is oW T [x y li i! JUA -7
[x+2y] (D) [2x=y] () [x-2y] (B) 2x+yl (&
8- The logarithm of unity to any base is —ebwsls L (zfé’ €11 LUl Jr -8
0 (D) e (C) 10 (B) 1 (A)
9- Which is order of a square matrix K G, Lol 9
3-by-2 (D) 2-by-1 (C) 1-by-2 (B) 2-by-2 (A)
10- The altitudes of an isosceles triangle are congruent. , <ugLﬁJ4LF*CL&7A —— Ladsef Uil 210
none U4y (D) four 4 (C) three o (B) two 5 (A)
- Factors of 5x%—17xy —12y? are - AR sz—l?)(y—12y2 -
(x=4y),(5x-3y) ®) (x+4y),(5x+3y) (A)
(5x-4y),(x+3y) (D) (x-4y),(5x+3y) (©)
25 7 25 5
S i
4 5 4 5
5 D) 3 © 5 ® 5 @
13- The product of two algebraic expression is equal Fistestss ol (yl;l; e PSS KUM s 13
to the of their H.C.F. and L.C.M. ~br e & &
quotient (=% (D product « U (C) difference J 5} (B) sum G (A)
14- 10gy X will be equal to il 6 sl logy X -14
log, y log, x logy z log, x
log, x (D) log, y (©) 1ogy z (B) 1ogy z A

15- If (x, 0) = (0, y), then (x,y) is 4z (% y) sx (x,0)=(0,y) /‘ =15
(1,1 (D) (0,0) (©) (1,0) (B) 0,1 (A
10-(I1)-121-111000
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2. Write short answers to any SIX questions:

: 1 2
i- 1f A=[0 1] _then verify that (Ah{= A

fi= 1§ D= s 43 i 8
ii- 121 0 2 ,thenfind D+ 5

10
01

9-7i
,l in the standard form a+bi
+1

ili- Express

iv- Evaluate 27

v- Express 9.018 x 1078 in ordinary notation.
vi- Find the value of x when logzx =5

vii- Reduce the rational expression to the lowest form
(x+y)* —4xy
x-y)*
viil- Simplify (+/x + /¥ J(VX — /¥ )+ Y&+ 37)

ix- Factorize 3x— 243x°
Write short answers to any SIX questions:
i- Find the H.C.F. of the following expressions:

102xy%z , 85x%yz = 187xy7Z
, 5
i~ Solve the equation .3‘_";1_ -9 O X #E —e
2x+5 2
iii- Solve |x+ 2}~ ~-]x+ 2|

iv- Draw the graph of y =4x
v- Determine the quadrant of the co-ordinate plane in
which the following poiriis lie:

vi- Find the mid-point of the points (6, 6), (4, -2)
vii- Find the distance between points (7, 5), (1, -1)

vii- f AABC = ALMN,, then c

_ b
() mZLN = ...
i mLA= ...

ix- Find the unknowns x°, y°, m® and n° in the

given figure: m

Wrlte short answers to any SiX questions:
i- In the given congruent triangles LMO and LNO,
find the unknowns x and m:

(ilu.») M

(2x6=12)

(2x6=12)

P(-4,3), S(2, -6)

(2x6=12)

AOt=A SZ G A In Az[(l)
LR g
5 p 1= D=l
9-7i

gt arbi oS
i
et Y
A dsped 9.018x 108
log,x =5 ek =d § x

2
K

123
102]/;

g

g Py S

x-y)*

£ (X X = )t e+ y)
=
26 3x-243%3

a0t

:i()b'rbqg& E/U)VJ:C/)
102xy%z , 85x%vz , 187xyz?
1 5
I 7 RS T SR
£ Tars 2 ="

& FS |x+2|-3=5-|x+2]
-ngjg y =4x
32;«:/?{6J£—d)""’4¢:’65/1’fc—}:@ Lnds
P(-4,3), S(2, -6)
ek 5 B € (6,6), (4,-2) b8
b beblen £ (7,5), (1, 1) b8
5% AABC = ALMN /i
MmLNZ . o)

MLA = e, (ii)

s m®ey®ex® r}"‘tu.‘.'J{’Gfd;
-ér)b’zlﬁ J n°

J LNO st LMO ¢ S5
_.ér:"’ﬂ,wb( m sl x (:“’t

18

oL@ g0 -2

ii
-iv
nY

~vi

=Vii

~viii

-ix

E Fep Loy @) g 3

i

~ii

~iii
~iv
-V

Vi
~Vii
~Viii

-égiumﬁéumy(suc_éf -4



5.

ii- What will be angle for shortest distance from
an outside point to the line?
ii- Define similar triangles.

2o GUFGI-2A

S LG ég{ﬁ-ﬁ(}wébuj
KLl gl {uwu‘/ BN L3 ¢ 35 0
g/ uthys

iv- Verify that the triangle having a=5cm, b =12 cm, a=5cmb=12cm,c=13cm uk’HJLM[.w

¢ =»13 cm measures of sides a right-angled triangle.

v- Find the value of x in the figure:

vi~ Find the area of the figure:

vii- Define triangular region.
viii- Construct A XYZ , in which

e DA Bl S

e d §xt LY
4cm X
> éf}t"‘)’/ Ky Gfd)
3cm
o iy

S Lk AXYZ

mZX = 64cm, mYZ=24cm, mZY =90°

ix- Define centroid.

L d s

(UrAasLlzpn £8LJvs) Sectionll 1) oo

(a) Solve the following system of linear equations by

using matrix inversion method:
2x -2y =4
3x+2y=6

2 1
(216)3 x (25)2

2x -2y=4
3x+2y=6

2 1
(216)3 x (25)2

i

il
<iv

-V

Vi

~vii
~Vviii

ix

t

Iédwc.u JJPLU}?G’/Q?UD&MU) () .5

(b) simplify = g2y = (&)
(0.04) 2 (0.04) 2
. 438)°+/0.056 (438)3+/0.056 .
(8) Use log table to find the value of E_____ — .z w oty J) -6
(388)4 (388)4 Z:r)i”u{’, = JJ; ’ /f)’ ()

(b) If x—y=4 and xy =21, then find the value of x3 - y3

(a) Factorize: 8x° - 125y° - 60x2y + 150xy>

xz—x~6 & x%+2x-24

(b) Simplify
Xx“-9 x2—x-12

(a) Solve the equation 2(){—6—;2 —x=1-2

(b) Construct A XYZ . Draw its three medians:

Prove that any point on the right bisector of a
line segment is equidistant from its end points.

OR

Prove that any point on the bisector of an angle

_ is equidistant from its arms.

10-121-111000

_é(}”agJ x3 - y3 Py xy =21 x—y=4/;f (.,)

-&E A 8x3 - 125y% - 60x2y + 150xy2 (i -7

. 2y 2 "
_é};;fx X6+X+2X 24 €.

x2-9 xZ-x-12

-".ér:‘%rd’g 5—(’—‘622-): = 12 aniat d) 8

O

:gé,uwéw &b XYZ &b ()
mﬁ=4.5cm, mYZ=34cm and mZX =5.6cm
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1- 1- Point (-3, -3) lies in-quadrant e G LG (-3,23) BT 1 1
IV (D) III (C) I (B) I (A
2- The value of log(Pl-) is = =°‘§‘!1°g(§“) h !
[

logp

logq—logp (D) logp+logq (c) Togqg ® logp-loga (n
3- The right bisectors of the three sides of a triangle are Sl x ol Snf Lot UsF Ledis |3
collinear 15 (B) congruent Ji* (A)
parallel (15 (D) concurrent L (C)
4~ Which is order of a square matrix » PN gl Gop ko0 U -4
3-by-2 (D) 2-by-1 (C) _ 1-by-2 (B) 2-by-2 (A)
5- The medians of a triangle cut each other inthe ratio  urd S Ut el e flgbs Lok 5
1:1 (D) 2:1 (C) 3:1 (B) 4:1 (A)
6- Mid-point of the points (2, 2) and (0, 0) is & i den € (2,2) 41(0,0) b6 -6
-1,-1 (D) (0, 1) (C) (1.0) (B) 11 &
7- What should be added to complete the b Gy J‘rfé.tg VOV xd+64 2 _7
square of x* + 64
4x2 (D) 16x2 (C) -8x° (B) 8x2 (A)
8- If a*=n, then Jx a*=n S .8
a=log, x (D) x =log,n (C) x=log a (B) a=log.n (A
9-if X,¥,2€R and z<0, then X<y = ... X<Y 2 anee Jv z<0 o Xy, 2R J _9
none of these U 3/t (D) XZ=YyZ (C) XZ>yz (B) XZ<YZ (p)
10- The degree of polynomial 4x% + 2x2y is < 0¥ 4x4 2x2y @A 10
4 (D) 3 (C) 2 (B) 1 (A
11- LCM. of a®+b? and a*-b* is s Sidboiss § at - b* s a2 + b2 _11
a-b (D) a’-b% (C) a’+b? (B) at-p* (A
12- Write 4% with radical sign - (s gﬁ-ﬂi/[ 4% -12
J46 (D) 343 (© J#3 ® Y42 A
13- If x is no larger than 10, then _ Ivs%e 10 c.ufJ x N1 .13
x>10 (D) x<10 (C) x<10 (B) X228 (A)
14- Find m so that x® + 4x + m is a complete square Wb lrJ6 P rax+m ol m 14
16 (D) 4 (C) -8 (B) 8 (A)
. 6 P
15- If 3 ‘ = 0, then x is equal to «Gdli X 47 =0 <15
X
9 (D) 6 (C) -6 (B) -9 (A)

11-(IV)-121-109000
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- Write short answers to any SIX questions:

i- Verify that if A:[(l) ﬂ  then (Ab!=A

i} [ 1 2 3
i-if D= , then find
| = 1 0 2

0 1 0
D+
2 0 1

ii- Express each complex number in the standard

form a+bi '—(“34”51)"'(4+9l)

- Simplity 52”4 (52)3
V- Find the value of x if 10g6255 = %x

vi- Express 416.9 in scientific notation.

%2y = 574
vii- Evaluate ————— for
Xyz

x=4 y=-2, z=~1

2685 — 34/5)

3x - 243x°
}- Write short answers to any SIX questions:
i- Find L.C.M.of 102xy?z, 85x%yz , 187xyz?

viii- Simplify

ix- Factorize

V3x+4=2
=6

ii- Solve the equation

X+5
2-X

iii- Solve for x

iv- Determine the quadrant for the points:
P(-4, 3), S(2, -6)
v- Verify whether the point (5, 3) lies on the
line 2x -y +1=0 or not.

vi- Find the mid-point of the points (-5, -7) and (-7, -5)
vii- Find the distance between the points A0, 0), B(0, -5)

viii- if AABC = ALMN , then
() MLN Zun.,
i) MLA Zvvrern.

ix- If LMNP is a parallelogram and

sum of its two opposite angles is 110°, IS
S
Find the remaining angles. y

(i’&/})

Section I ;J;uo

_gg"{/".:,gbzﬁ?i.-,my(e;)ga_éf -2
Zj! &
/7 -

(2x6=12)

. 1
A=A S TdIn A =[0 1

1 2 3 . s
Gl IG5t In D=[ - j S i

0 1 0
D+
[2 0 J
FJ atbi S CaidEs) s u%ftj;"@’) ~lii
(B (449

AL 2 (2

v
’ . 1 .
-éfﬁ’&éfx Yu log6255 = ZX Sy
RS 489 i
2.3 4
SuJ XY 202
Xyz
x=4, y=-2, z=-1
& 2645 - 345) i
A 3x-243%3 -
-é{faylﬁ/"‘?ﬁ:‘ﬂ’f((i)gc.é/ -3
§ 102xy%z, 85x2yz , 187xyz2 i
ek Jisbons
ESS Bx+d=2 ebe
Xx+5
S/ 2-x
E LG L L,
P(-4,3), S(2, -6)
(2%-y+1=0 ) (5,3) BSZEJA v
S L e O
~ZE ek 5 Qs (-7,-5) ul (=5, -T) b6 _vi
b Lol Jlen ¥ B0, -5) « A, 0) b6 _vii
I AABC = ALMN /i _yii
LN 2 s (i)
mLA Z.venen (ii)

(2x6=12)

=6 bt i

60° N

N e Llsuigi ol LMNP T Lix
T Fe110° s KUyl A s Lo

“Eped Sl s e s up 3
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(2x6=12)
R -t A ol AD J: ABC &l fisiigls -
-é’l:r)!”au’: d/ 2y e x’

4- Write short answers to any SIX questions:
i In equilatral triangle ABC, AD is bisector of angle

A, then find the value of x°, y° and z°
s " c
ji- 3cm, 4 cm and 7 cm are not the lengths of the ol sl u’{ 7cm st 4 cm ¢ 3cm
triangle. Give the reason. el e ol
jii- Define similar triangles. ,z»‘:.y/’uf u@*,iﬁ*f i
iv- Verify that the A having the following measure of el S é&:ﬂ Uit Uk St laie v
sides is right-angled: a=16cm, b=30cm, c=34cm a=16cm, b=30cm, c=34cm ¢ /1246
v- Find the value of x in the figure: :23:{(}”:;3 SxtFf v
gl \om
1em . .
vi- Find the area of figure: e 5 ¥ i
8oem
4 om
vii- Define altitude or height of a triangle St Lek i
&b AABC i
mBC =4.2cm, mCA =52¢cm
-Z‘EJ;J/? L.}uﬂ ~ix

viii- Construct a A ABC
mAB =32 cm,
e U 3 f Luds () -8
2x-2y=4, 6 3x+2y=6
2
(216)A X (25)% )

ix- Define incentre.

(ujﬁ‘" 4 L5725 / 8 LJirs) SectionIl (2 o

(a) Solve by using the matrix inversion method:

5-
2x-2y=4, 3x+2y=6
% %
216)73 x (25)72 P
(b) Simplify ey _(y ) .y =7
(0.04) 72 (0.04)
(8.97)°% x (3.95)% %, ¢ (8.97)% x (3.95)
8- (a) Use log tables to find the value of ~— : S § U (‘;&’)’f 2 : () -6
315.37 31537
5- 2 2, 1 1 V5- 2
(b) f x = ——=, then find the values of X+~ o i s B e T2 ) G
Vs+ 42 X x2 X J54+ 42 )
y A ‘ Eeud
7
X
7- (a) Determine the value of k if p(x) =ksd+4x2+3x -4  p(x) =ka3+4x2+3x-4 Ul FA =3/ (k () -7
and q(x) = x3 ~ 4x + k leaves the same remainder it (:;? ¢ (x=3) S gx)=x3-4x+k o
when divided by (x - 3) B GLuk
N 1 ;
(b) Simplify A— — as a rational expression where A = Z—J;; A= a—i} 5 EE & G A —;T ()
e a— *
8 @ sove 2 -1 -1 .4 [ TG B S S )3
x2.1 x+1 x+1 : x2_1 x+1 x+1
(b) Constructa AABC and draw perpendicuiar Zg-f/ ot §9F LU Ll &l ABC &0 (L)
bisectors of its sides:
mAB=53cm, mZA=45" and mZB =30°
9- Prove that any point on the right bisector of 09 95 Ols g iobf L 15 o8 &5 o yiig seot 9
aline segment is equidistant from its end points. K SIS = Uy L5 A5 B
OR k
L8 S g g ot Lests G
Gyt JoiSabe = Uil

Prove that any point on the bisector of an angle is

equidistant from its arms.
11-121-109000



